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QUESTION 1

Which component of VMware Horizon Blast will provide a consistent experience (o end users regardless of the type of
device or location of the device being used? 

A. Blast 3D 

B. Blast Live Communications 

C. Horizon Clients with Blast 

D. Blast Local Access 

Correct Answer: D 

 

QUESTION 2

A company has engaged a consultant to configure a way to provide a generic virtual desktop to users as (hey login.
Users will not save data to their desktop and all client data is redirected through Group Policy Objects. 

Which Horizon (with View) feature will accomplish this request? 

A. Full Clones 

B. Dedicated pools 

C. Floating pools 

D. Linked Clones 

Correct Answer: B 

 

QUESTION 3

A medium sized company manages over 1,000 virtual machines, which are running on six ESXi hosts in a VMware
Horizon 6 infrastructure. 

The existing storage array is suffering lion performance and capacity issues. The company is considering deploying a
new storage array, but is concerned about the cost. 

Which VMware solution otters a software-defined storage platform that is fully integrated with vSphere and can be
deployed without the need for an external storage array? 

A. iSCSI 

B. Fibre Channel over Ethernet 

C. Virtual SAN 

D. VMFS 



Correct Answer: B 

 

QUESTION 4

Which statement represents a Customer Requirement that could be met by implementing a VMware Horizon (with View)
deployment? 

A. We need to centralize access to common services and provide a uniform, secure, easy to manage image for
employee access. 

B. We want to reduce the amount of hardware in our datacenter by making more. 

C. We are looking for an easy way to recover our user services in the event bf unplanned downtime. 

D. We need to centralize our management functionality and be able to quickly and efficiently monitor our datacenter
services. 

Correct Answer: C 

 

QUESTION 5

Your manager has asked you to implement a VMware Horizon (with View) solution in your environment. 

Which solution is best suited for a group of users where the desktop must be deleted and recreated after each use? 

A. Floating Pools 

B. Dedicated Pools 

C. Manual Pools 

D. Dynamic Pools 

Correct Answer: D 

 

QUESTION 6

Which technology allows users to access VMware Workspace Portal using any desktop PC, MAC, IOS, or Android
device? 

A. Adobe Flash 

B. Microsoft Silverlight 

C. HTML5 

D. Java 

Correct Answer: A 

 



QUESTION 7

Which key element of VMware Horizon Desktop as a Service (DaaS) given as an IT administrator access to an
administrative portal from which they can manage the virtual desktop environment? 

A. Security 

B. Enterprise Integration 

C. Tiered Role Separation 

D. User Experience 

Correct Answer: C 

 

QUESTION 8

An administrator is concerned about reoccurring licensing issues within their; organization Which product or component
will help resolve these issues? 

A. View Administrator 

B. VMware Workspace Portal 

C. Linked Clones 

D. VMware Mirage 

Correct Answer: B 

 

QUESTION 9

An administrator wants to make a centralized Web Management Console available to desktop and mobile users. End
users should be able to request applications and virtual desktop resources customized specifically for them. 

Which VMware product can offer this functionality? 

A. VMware ThinApp 

B. VMware Workspace Portal 

C. VMware vRealize Automation 

D. VMware Mirage 

Correct Answer: D 

 

QUESTION 10

A company wants to purchase several physical servers, which will be deployed as Virtual SAN- enabled FSXi hosts.
The company is unsure which disk architect tire types are required to be installed in the server in order to deploy Virtual



SAN. 

Which two types of physical disks are required to deploy Virtual SAN? (Choose two.) 

A. Flash based devices (SSD) for capacity 

B. Flash based devices (SSU) for performance 

C. Magnetic disks tor capacity 

D. SATA disks tor performance 

Correct Answer: BC 

 

QUESTION 11

Which type of disk architecture does Virtual SAN leverage? 

A. Hierarchical disk architecture 

B. Shared disk architecture 

C. Parallel disk architecture 

D. Hybrid disk architecture 

Correct Answer: B 

 

QUESTION 12

An administrator wants to minimize the load caused by virtual desktop traffic In order to maximize performance on an
excessively taxed infrastructure Which type of business challenge is the administrator faced with? 

A. Availability 

B. Security 

C. Application 

D. Management 

Correct Answer: B 
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